RCSC - SERIES

ASSEMBLY INSTRUCTIONS FOR | BUL10346
RCSCATIP REV.A

PAGE 1 OF 1

(SOLD SEPARATELY)

o

=77 777 77 17 77 14 1717 17 A

SEE DETAIL "A"
PARTS LIST
ITEM No. DESCRIPTION QTY
1 RCSC CABINET (SOLD SEPARATELY) 1
2 RCSC ANTI-TIP BRACKET 1
3 1/4-20 SCREW 2
4 1/4-20 NUT 2
TOOL BOX Phillips

& |

Screw Driver

)

O

Y

REMOVE
KNOCKOUT (X2)

DETAIL A

ASSEMBLY INSTRUCTIONS:

1) Remove knockouts with a proper striking tool.

2) Line up holes on Anti-tip bracket with holes on cabinet.

3) Insert 1/4-20 screw through each hole and fasten securely as
shown with 1/4-20 nut.

HAMMOND
MANUFACTURING:

ELECTRONICS GROUP

visit our website @ www.hammondmfg.com|




